Quiz 2 Calculus 3 11/16/15
Each problem is worth 5 points. Clear and complete justification is required for full credit.

1. Let F(x,y) = (5x%7, 2x’ y), and C be the line segment from (2,-1) to (1,3).
Compute .[c F-dr.
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2. LetF(x,y) = (4x -1,y x2> Compute J F - dr for C the second-quadrant portion of a circle

with radius 3 centered at the origin, traversed counterclockwise.

T P@= L3t 20tY & Ly Ly
-

T.F (Fle)) = A\Q cost - 1, Vet ~ Qo v

T, ?'({; = {-3snt , Deosty

v

N
ok e . A
E fﬁ 4\9\(.—(,.; 1!{.;:;“\'.. COS 1{/ <“-’.>"'”/v\cm-t>é—t
9

L (=
g =265t cost + Bsint Al oet — X cost

— e

P
—_/

j:q 3siat - Aisinteost - P gpsst dt

o
}

& ST
5S Sviv At“ ~ | 3:\ Su\JCLOS‘L c“\ 2—\ L\r (05 T O
7
gy S
=4 cV‘ ( " ~
3 cosy | -9 vdo - 1 {E cost( 1-siF )
X o fri

: \ ) ) & Lo,
2) o T T r R _{):* oSt oty 1 ( COStS( ,«,-&AK
p A o & :icﬁ?,
(0-1.) ‘ Y -5
35 & -9 .
i O setly) ¢ 210, Yo
7 =
CB=1) <
+ r%:l S _ - ‘4;:1 {C"
3 Sl Bl + 2 :L M PR
o —j’ e



